2025 EHES =7 GO L) Hvh—1)—5

HERUVHSHER

gl A B ( ) =35 HEE = 5
17:15 |7HY—FAI=7| 6 - 0 ML EAIFE |FHYyh—15

£ 18:25 . 0 - 5 L7y k50 |#akmyyh—

: 2025/4/6 (8) 7)b7/l~60~ 7) ZJF WEMY Y 5

& 19:35 | LWEDOMAT=55 (1 - 0 FARLSC |(EXmYyh—15
20:45 Fcza—X |1 - 0 EHSFC nEHmYy H—18
17:15 FILT v 60 3 -0 L EAIR |RETHyH—15

£ 18:25 W 7 - T 2= \ - —

A THILYFIREK | 2 0| 7ZE z/_7 WATY v H—15

5 19:35 LtHXE 2 - 0| FCa—TR (WEmHyh—iF
20:45 AETFCY=7 |0 - 2 FCYamy WAHY Y Hh—15
17:15 FCYarm 0 - 0 FCO—TRXR |REAmyvh—15

% 18:25 FCy = - AR Y H—

% | 2095/4/%6 () ABTFCo=7 | 1 2 EE?FC nEmY Y H—15

& 19:35 tEXE 0 - 0| FAARLSC |BAHYvH—15
20:45 Fcza—X |5 - 0 H2JSC WEmY Y H—15
17:15 FILI v kb0 6 - 0 EFHXE WATY v H—15

) : 1 — o - - \ W h—

A 18:25 |7HU—EREY 7 3 3 7{»7 J‘FGO WARHEY Y h—15

i 19:35 WEDMAT=AS |1 - 0| PFEIRIZT |hEmdvh—i5
20:45 TJAILYFIRAR | 2 - 0| FCcoxzO—X |&Emyyh—i5
9:00 | WEDOMAUT=HA5|3 - 0 EHFSFC EHEFELB/—Y
10:10 THILYPRER |5 - 0 H+27JSC E&XEFLDI—H

% . j— o= = X EHIE-B5/5—5

of QTR 11:20 (7HY—REI=7| 0 1 i/ua<s_c 2%&%& %w\o

i 12:30 FILT7Y k60 5 - 0| FCoa—FR |8&HEF=5/3—2
13:40 FEIRY=7 |2 - 0 Fcyarm EHEFEEE1—Y
14:50 LA L EAIX 1 =2 KETFCL =7 |E8&FE5/1\—%
17:15 Fcoo—5FX |1 - 0 EHSFC AT v Hh—15

£ 18:25 FILZyR50 |12 - 1 OHLEAIEFE |[RETHYH—B

6 | 2025/5/11(8) -

& 19:35 AKETFC>=7 (1 - 0 #rISscC wARmY v h—5
20:45 FCcYyamw 2 - 1 FANRLSC |IEHYvH—i5

% p—

7

] -

= =5

8

e _

= =

9

e _

Ho-#




